ASSISTANT CENTRAL INTELLIGENCE OFFICER GRADE-II/EXECUTIVE EXAMINATION-2014
TEEF FOT gl ¥OEH A3 1|/ FEGEE wan - 2014

Instructions/f&ar Date of exam / gftam faf¥y : 22.02.2015

1. The written examination contains two papers, namely Paper-l (Objective type) and Paper-1l (Descriptive
type to be attempted in English language only). Total duration for both the papers is 1 hour 40 minutes from

1120 to 1300 hrs. faf@a adan & ¥ mawx ¢, WA (FFgfes) @ WRATH-1l (Faer 300 v A avfars)
%l%%awmﬁgme1da4oﬁmzt.m: 11 To+T 20 Bae ¥ 39T 1 @ a&|

2. Each question in Paper-l is followed by four alternatives, namely (1), (2), (3) and (4). Only one alternative is
the correct answer which should be completely darkened by ball-point pen of blue ink on the OMR response

sheet provided separately. Hindi version has not been provided for questions on English language. T3a93-1 #
YT WA F IR fawey 3, Tt F F o @ 7@ scw @1 7@ 3w # y@w ¥ & aw OMR 3w gRaw
# Al =l F ae-lge 39 F Qiaw R 3ifET S @) RN s F A F1 R e A€ Ran
el
Paper-l/m=a9=-|

1. Curcuma longa is the scientific name of which spice? FHAT a9 ¥ FES F1 TR AR 27

(1) Cumin/SfR1  (2) Cloves/&tar (3) Turmeric/ged!  (4) Coriander/uforan
2. Bones found in the hands and feet as the percentage of total number of bones in the body of an adult
human being is nearly equal to/aZF % A 1 iUl IR [ A VI  dFem, 7ma & 7 @R A Fe
A FaHT Fraen gfava o 32 (1) 20% (2) 30% (3) 40% (4) 50%
3. Europeans are believed to have brought potatoes to India in the 18" century. Which region of the world is
believed to be the origin of potato cultivation? 3BRed! 1 # T & A & e F Ah s # I A

wavyH fva & By a7 & s A @ ReERa §$? (1)Eastern Ghana/qdf &1 (2)Southern Perufzfaor 4%
(3) Portugal/geamer (4) West Indies/A¥T 323

4. Oymyakon is generally considered the coldest inhabited area on Earth. Which country Oymyakon is located

in? wAvga: fra & wad ¥ Awe Raw &3 Maaaws frg 3w § 27

(1) Mongoliafsafaran (2) Russial®q (3) Greenland/iftaets (4) Iceland/HTFEAS

5. Which gland in the human body is also known as the “third eye”? 3o @ #®la @ I & #A=g ik N

‘el 3@ @ S &7 (1) Pineal/RfATw (2) PituitaryMzged (3) Mammar.yﬁh'& (4) Tear gland/3% ufY

6. Leukaemia is a group of cancers that usually begins in the bone marrow and results in high numbers of

which abnormal cells/sgFAIaT, F% 9FR & FTT & & a7 § N W¥uASTH H 39w gar 2 R wga

FERY FCA A @ FOHA F1 T Y& FAT ¢ T§ Fd FOT S §2 (1) White blood cells/add &

FOT#T (2) Red blood cells/&Te T#d ®for&1  (3) Plateletsicaeaza  (4) All of these/wsfht

7. During an earthquake, two places ‘A’ and ‘B’ record its intensity on Richter scale as 4.0 and 6.0, respectively.

In absolute terms, the ratio of intensity of the earthquake at ‘A’ to that of ‘B’ is/ U# 3&FY & K= 3 Tu=l A

IR B Y, Reer &Fa W 39d dfaan w3 4.0 3R 6.0 Rard frr sman @1 Odey &9 ¥ A 3R B wuel W«
HHa A o F1 e F7=2 gei? (1) 2:3 (2)7:8 (3) 141:173 (4) 1:100
8. On a cold day in January, the temperature at a place fell below the freezing point and was recorded as —40°
Centigrade. On Fahrenheit scale, the same temperature would be/Saadl Ag & & 33 Ra &1 awaEw= 0° &
AN T T AR arEwE -40° dfewaw RET gam wRede s# A 7w Rwd wRaew gm

(1) 32°F  (2)-8°F (3) -40°F (4) -72°%F
9. Universal Gas Constant, R, is a property offardta 3w frwais R, saat & fvas oo 2

(1) Ideal Gases/3mget #¥ (2) Halogen Gases/gaTot= | (3) Inert Gases/fAfFa & (4) All Gases/asht
10. In which place was the 1" Science Congress held in lanuary, 1914/3ge R &A@ F=all 1914 & gl

ymﬁaagé M7 (1) Kolkata/F&&rar (2) Allahabad/sagarg  (3) Chennaildsas (4) Pune/q=

11. The class of elementary particles, bosons, was named after Satyendra Nath Bose, an Indian Physicist.
Which of the following Indian Scientists graduated from Presidency College Calcutta as a classmate of

Satyendra Nath Bose? Yiuf& sur "@aew &1 a7 Ry #ifds 3Ot acdeg 1w @ & a5 93 W@ I[4
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§A A Fl TANSH IS FeF A EaF Fan A 39 TS A2 (1) Jagdish Chandra BoselSA U R
(2) P.C.Mahalanobisidt &Y. 7gre=faw (3) Praful Chandra Ray/M@ed 9% I (4) Meghnad Sahal#aag &1g1

12. To which place Aryabhata, the great mathematician, went for advanced studies? Rge foTas ITANT 3=
fran & fav 33% @ By Tum W v A7 (1) TakshashilalasrfaraT (2) Patliputra/areeia

(3) Kashi/sreft (4) Kaushambi/®tama
13. The development of the world's first practical design for an Inter-Continental Ballistic Missile, A9/10, was
undertaken in Nazi Germany during the World War II. It was intended for use in bombing/fa & wgar IaX

mmmAglwﬂmmMaﬁﬁaﬁ?ﬁﬂﬁwg*mmﬁTQlﬁ
A8 @ v W Al F fRAvw YgFd g1 41? (1) London and other coastal cities of Britain/aga 7 fade &
T W 9T (2) Northern cities of France, including Venice/i ¥ 3cadl e, 3w miX o (3) New York
and other American cities//qaT% @ 3= ARG WG W (4) Interiors of USSR to cut off military supply lines
to Moscow/sg#d &0 & e wpdd A amfs it wawg @ 3
14. Homi Jahangir Bhabha, the father of Indian nuclear programme, was also the founding director of which of
the following institutes?/grfl SIERIR 3N, sRE & VAT sFveq & R, 507 § By T80 & TEO9s
2w sft 942 (1) Tata Institute of Fundamental Researchizrel Hifas HIHUT FEUE  (2) Indian institute of
Science, HRdr A7 WU (3) Indian Institute of Technology, Mumbai/s¥RdrT sl FeuE, A
(4) Saha Institute of Nuclear Physics, Kolkata/agr aifidr s dra=
15. Who headed the Satellite Launch Vehicle (SLV) project launched by ISRO in 19702/'38%0" & ¥Tame 5w
HFF (SLV) ¥Heq F URH 1970 # frwd Fqea & gar?

(1) Dr. Vikram Sarabhaifs1.fass armem (2) Dr. K.Radhakrishnan /31.% Trutsurs

(3) Dr. A.P.J.Abdul Kalam/s1.0. .3 . 7eqa F@W  (4) Dr. G. Madhavan Nair/ 3n.3fLauaa AR
16. Where was Bhaskara, also known as Bhaskaricharya or Bhaskara I, an Indian mathematician &

astronomer, was born? / ¥ g 7 AR, sesy, O S 0ed o1 SRsl § 937 3 3 s

AET &, FT AT FEI g3 w? (1) Kanchipuram/&TqeT (2) Thanjavur/damat
(3) Bijapur fR=mT (4) Madurai/#gu$
17. The BrahMos, a short range supersonic cruise missile, is a joint venture between which foreign country and
Indian agency? AREAF Fo walm, arat, B Qo 3w s e ¥ g s @ Rl ga?
(1) USA & ISRO/QTHT T FH (2) UK & ISRO/G® T 380
(3) Russia & ISRO/EW T /U (4) Russia & DRDO/& & Sandar

18. If the sum of 60% of a fractional number and the number's square root is 5 greater than one fifth of the
number, then the number isfafy vt e Fm &1 60% 30 Few & Totnw @ 3u% 15 T ¥ 5 3w 3
A ag " F41 §? (1) 6.25 (2) 0.25 (3) 12.25 (4) 2.25

19. If ‘Head’ appears consecutively in the first three tosses of a fairfunbiased coin, what is the probability of
‘Head’ appearing in the fourth toss also? I} T% AT RA+F F TR Hi7 IR 390 T A 777
T IW wan g, @ ) AR IoEa wWORE e Y Far wwEar gl (1)1/8 (2) 7/8 (3)1/16 (4)1/2
20. Archers ‘A’ and ‘B’ take aim at a target. If the probability of ‘A’ hitting the target is 90% and of ‘B’ missing
the target is 90%, what is the probability that both ‘A’ and ‘B’ miss the target? &Y dRgar A 3X B v+ a8y ©
fmar 3@ §) o A ) Ja7 Agw Fwraer 90% ¥ R B ¥ waw N Y vrwwEen 90% AV A ¥R B A
AT A NT g K FYFT wHEAT F1 gei? (1) 90% (2) 09% (3) 01% (4) 81%
21. If 12 persons working 12 hours a day dig 12 meters of a tunnel in 12 days, how many men are required to
- dig additional 04 meters of the tunnel (of the same dimension) given that they work 04 hours a day for 04
days? A} 12 sl 12 B 12 92 97 X & vF @ F 12 Al 7% @A € A 37 g N 37N A9 A 4
#ex Ak wlen & faw fraey AR g gy o3 T #1116 4 Ba A o FwmEe

(1) 27 (2)4 (3) 12 (4) 36
22. A man sells an article at a certain price incurring 20% loss. If he had sold the same article for Rs.20 more,
he would have earned 20% profit. What was the cost price of the said article? T® a&] 20% W 9 It Sl
¢ AR awg 20 ¥ O Hew w AN SR QN REA B 20% T A I GG FFT {ew w90

(1) Rs.20 (2) Rs. 40 (3) Rs. S0 (4) Rs. 60
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23. Numerator of a fraction is increased by 60%, and at the same time its denominator is decreased by 60%.

The new fraction is/af% & fiiesr & 31 #1 60% A @21 W 1 & 3K 39F g7 H 60% ey R smar ¢ at
@ e &= gt 2 (1) 2.56 times the older fraction/2.56 7[om H& =1 @ ST (2) Equal to the older
fractionfe 7t & W\ @ (3) 4 timesthe older fraction/fe &1 AW 4 o7 &g FTTN (4) 0.36 times the
older fraction/0.36 3[om & = & seem _ -
24. In a triangle ABC, one of the angles is average of the remaining two angles. Which of the following is
always true about the triangle ABC? a1 ABC &, & #1071 3= Q1 Fvil & Hwa ¢ 58 B & RAw, =&
A &l FUa gAW T §? (1) Isosceles trlanglelafa'a'ﬂi'lg EL (2) Equilateral trianglefmmg’ ErC]

(3) One of its angles measures 60°/f¥= &1 TF For 60° ¥ (4) Right angled triangle/Fa=ToT Brersr

25. If the area of a circle ‘C’ is equal to the area of a square ‘S’, then the ratio of the square of the perimeter of
'C’ to the square of the perimeter of ‘S’ is nearly equal to/g@ C F1 &1F%d I S F BAFBA & WA ¢l C
AR F = 3Rk s A A &1 = 1 3ewm, BT v Reew F 3 sa w8 v

(1) 22:7 (2) 11:14 (3) 88:7 (4)1:1
26. The last digit of the number 37" isfd@ar 32 &1 ¥RF I FW g ()1 ()3 (3)5 (4)7
27. What is the squareroot of 49%? 49% &1 &iHa #a1 gWN? (1) 0.7% (2) 7.0% (3) 70% (4) Undefined/nfaf¥aa
28. Log (40°-20%) is equal to/evia® (40%-20%) & Ty $0H Fla §7

(1) log 3 (2) log 60 + log 20 (3) log 40 — log 20 (4) log 20
29. Twelve persons meet in a conference and each shakes hands with all the others. How many handshakes
take place? 12 HGH T&F FIEH & HaW W THAA A ¢ TS I 0F g A #19 Bard & s Faa
y e g §2 (1)66 (2) 72 (3) 144 (4) 132
30. A man travels uphill to city C from city B in a car at the speed of 40 Km/hr, and returns to city B at a faster
speed of 60 Km/hr. What is his average speed for the round trip? T& HIgHl I C A IE B 9918 ad I§ &/
A AT FR A 40 km ¥fd €2 A IFAR F T § F41 60 km 9f¥ @ K A7 F Few ¥ 3wE A
TR T A I IR A A FE?  (1)0 (2) 48 Km/hr (3) 50 Km/hr (4) Data insufficient/39aTcd HTH3T
31. (7+14+21+28...........+700) isequal to : (1) 35350 (2) 42714 (3) 49420 {4) 56707
32. In a group of 5 persons, P is taller than Q, but is shorter than both R and S. Both R and T are taller than Q,

but shorter than S. This implies that/5 TR F FF A, P, QA g, A Ra S A B g, R @
T,.QA ¢ =g S ¥ B8R & 8% #Aae® ¢ (1) Ris taller than P, but shorter than T/ R, P & a3V ¢
9y T & B8R ¢ (2) Tis taller than Q, but shorterthan R/ T, Q ¥ ¥31 & 7T R & BT ¢ (3) Ris taller than Q,

but shorterthan T/ R, Q ¥ @31 & 9T T & @Ye1 & (4) Sis taller than T while P is shorterthanR/ S, T ¥ &1
WP, RITE

33. In a group of Army Officers, 02% of Officers neither take Coffee nor Tea, while rest of them take either Tea
or Coffee or both. If 60% of Officers take Tea, while 58% take Coffee, what percentage of Officers take Tea but
do not take Coffee? dM F IMFRA F tH FF H# 2% A s M F 3k 7 o, T 1 A w7y ¥ ¢ 70
arr i3 ¢ ar grg-wrdy A AT E) 3l 60% ww fiF E, 58% wrf fid E &t Rt & fraen wfava a
dfar ¢ 3 &by a8t Ham (1) 02% (2) 20% (3) 40% () 60%

34. The original name of Ho Chi Minh, the President of the Vietnam Democratic Republic, was Nguyen Van
Thanh which he later changed to Ho Chi Minh before becoming the President. The literal meaning of Ho Chi

Minh is/l.fl.fwg, Raaams oo § weefd &1 5o F & gHT @R AT aE geE 91 3R HOAT A
ezafy aoe & oga LA W@ B s @1 v 7t |1 82 (1) He Who Leads/Sit Aqea 2

(2) He Who Fights/Sit @318 &Y  (3) He Who Enlightens/SY @@ & (4) He Who Protects/SY Tam 2

35. In which year, Mahatama Gandhi travelled to Champaran in Bihar to inspire the peasants to struggle
against the oppressive plantation system? HgreaAT M & fFy af & fgr & TyRor Sy Afaed # vwor =
¥R ©of $7% g w1 BRw w3 F Qe @ e (1)1914 (2)1915 (3)1916 () 1917
36. With which objective, CR Das and Motilal Nehru formed the Swaraj Party within the Congress? #¥T.37.g¥
vd A AgE A FAw & Moy Faos odl By 30y § a@§ A7 (1) Spearhead the mass struggles/S=
FURYT & Fod & Aged 27 G (2) Forge Hindu-Muslim unity/Reg AR@H w&ar #1 53 #37 8
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(3) Participate in elections to the provincial councilsRisg gRweY + g A HT AR &I (4) Organise
legislative protests against Rowlatt ActRTaele i & Ree # Rurh v ¥ A
37. The industrial working class did not participate in the Civil Disobedience Movement in large numbers,
exceptidsﬂmtmtm@ﬁmaawmﬁqam#maﬁﬁm.mwmlﬂ
oI+ : (1) Nagpur region/aTqR 3ae (2) Madras region/A g 9
(3) Surat regionRXa g (4) Calcutta region/®Id®Tal e

38.Dr B R Ambedkar clashed with Mahatma Gandhi at the 2"’ Round Table Conference demanding/sT. 3
R Fgren Aeh & fg @y M A9 TS F FET R Bvw W A @ o an

(1) Reservation for Dalits in Government jobs/IR&{Y A&t A Zfra HRaTOT (2) Reservation for Dalits in

Ministries/sTaTaral # afd@ 3nmwaror (3) Separate citizen status for Dalits/zfaral ¥ v e amits #1 Z3

(4) Separate Electorate for Dalits/zfoat ¥ fow qus swaam
39. A scene of wrestling match in Bombay’s Hanging Gardens was shot by Harishchandra Bhatwadekar, & it
became India’s first movie. It was shot in the year/ gRed% Waansx ¥ #iwg ¥ ¥ mda ¥ A F oF T
# g Reefa &, A axa A g e w01 By a9 37 Rew a=h o

(1) 1896 (2) 1907 (3)1913 (4) 1925
40. Which famous leader once said, “we would not have made economic progress, if we had not intervened on
very personal matters: how you live, the noise you make, how you spit..” &% @% 7 Ja1 ¥ 77 w97 R4

w0 IfEE gl af A, AR g AR ¥ mfEara amal F af gew 2 0 R v wa A g
W A & F& 39 gES .7 (1) Adolf Hitler, Germany/sifeh ¥ w2Ye® Reax (2) Ho Chi Minh, Vietnam/
Raaes & & €t &=F (3) Mussolini, Italy/zzesh ¥ #ufAA (4) Lee Kuan Yew, Singapore/RImqx ¥ & FI
41. Who brought the printing Press for the first time to India in the mid-16"™ century ? HEOT A F AR H
ATEdt T ¥ FAew A ggell AR #9. FRA? (1) Dutch cloth merchants/gfls & wgsr =amard (2) British traders/
e & =g@ (3) Portuguese Missionaries/gdamelt rmdl (4) Arab manuscript writers /3! yosfaf® das

42. Measures in India to impose censorship on printed material were initiated in 1798 by the East India
Company. It was directed against#$¥Z 321 F9ht ¥ 1798 F AT wwmh W vfadw T ¢d T FHA 3BT
U1 3§ FH 9 ¥ F RS 47 (1) Bengali social reformers/aana & wmATio® FURF (2) Englishmen in
India/Ra # 3T S AF1 (3) Bengali writers/Samel &@® (4) Indian Princely States/STTaa Mt s

43. Munshi Premchand was born in 1880 and died in the year 1936. His best-known literary work, 'Godan’ (The
Gift of Cow) was published infialt Soag #1 57 1880 ¥ gam 3R g 1936 #1 3h Awhw wRRa
witfeas HfF e fFa ot gwfa g d?  (1)1920 (2)1934 (3)1936 (4) 1942

44. The caste-system during early Vedic age prohibited/@R# zar ¥ onfa won fvw wnfors 8 7 swagr W

ity wcht O (1) Inter caste dining/ 3T FEMT  (2) Inter caste marriages/iasida faag
(3) Both/Z¥WY (4) None of these/®1$ 1§t

45. In which year, Thums Up, one of India's great brands, which was sold to Coca-Cola a few years ago, was
launched? "usH 9", mquamamwmmma#mm:mm.nﬁWﬂ
A U g3 An? (1) 1947 (2) 1958 (3) 1979 (4) 1991

46. Which among the below mentioned Upper Palaeolithic places in India is wrongly matched with the state it

is located in? R v Shanar o & qaid awl & svemady vl 3N vow g A Fa e
(1) Bhimbetka, Madhya Pradesh/sfsrde®1, sieaudy (2) Betamcherla, Andhra PradeshAaaaRan, iy w2y
(3) Inamgaon, Maharashtra/$=/#?/@, HFRATZ (4) Singh Bhumi, Himachal Pradesh/fa% H=&, Raww Ru
47. Kalidasa’s 'Kumarasombhavam’ describes the story of the birth of which mythological character? #rflgr
¥ parwwan ¥ Fw oo T & sew f b B2
(1) Sanatkumar/F-id®saAR  (2) Karttikeyaf®rfdda  (3) Pradyumnaliggs~1 (4) Abhimanyulm
48. Where and when was the 2™ Buddhist Council held? ZF&l @iz TRz ®a 3R Fgi I faa g dn
(1) Patliputra in 250 BC/$.q. 250 & Wrzeg¥  (2) Sri Lanka in the 1st century BC g wun 7 shewr
(3) Vaishali in 383 BC/3wneht §.4. 383 = (4) Mandalay in 1871 AD/USET &= 1871 §
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49. In which among the following cases, the Supreme Court of India propounded the theory of basic structure
of the Constitution? §a# ¥ TFw wawr F wafew AT J #Ruw &1 A7 7 ofar Bgea vRwRa Fm

(1) Gopalan vs. State of Madras/MITae @ATH FEW UsF  (2) Golak Nath/aia® AT §a30T
(3) Keshvanand Bharati/&ranieg HRA SH01 (4) Minerva Mills/ RataT Asw w&or

50. The 52" amendment to the Constitution of India is most closely related to/SReIa WY &1 52 T wwu=
fFa8 wafPua 27 (1) Extension of Reservations in Government jobs/amaHIT Jamt ¥ IRaoT F1 FAwER
(2) Provision for special status to pouralﬁgﬂ # fadw g1 &9 %1 wrau= (3) Provisions for increasing age of
eligibility for votingfalz ¥ &R 1 Iy WM @@= & wawma (4) Provisions against political defections /
TSANA® ga-age 9T giaay &1 yaue

51. Which among the following political party of India has an election symbol very similar to the election
symbol of Republican Party of USA? 33t0iF1 1 frw erifas ot #1 goe Reg [ §C TF WRd 1 Fw
Tefa® ot & gare Reg & a1 §2 (1) Samajwadi Party/@HTe@@Y 91¢  (2) Bahujan Samaj Party/agsrt

A 9iél  (3) Janta Dal (United)/S=ia1 29 (wgFa) (4) Telugu Desam Party/de(a 2a# 9
52. How many members, the President of India can nominate to Lok Sabha & Rajya Sabha, respectively?

Iregafa, Fom: fFas WeEg a1 W 7 Uew W ¥ v amnifeg W aEd 2
(1)12,2 (2) 2,12 (3)2, 10 (4) 10, 2
53. Which among the following amendments to the Constitution of India, designated Delhi as National Capital

Territory (NCT)? @ afdura wvivsr & Reh &) g qoureh & ar Rar mar?
(1) 63rd Amendment Act/63 al FHUT Fhj (2) 69th Amendment Act/69 T FINYUT FTget
(3) 74th Amendment Act/74 a1 Faua Fa (8) 76th Amendment Act/76 31 FINUT Fw

54. On 29 August 1947, the Drafting Committee for Indian Constitution was appointed, with Dr B. R. Ambedkar
as the Chairman along with six other members. Who among the following was not the member of the Drafting
Committee? 29 3R 1947 & FAww A d@w AR afsq N mh G Feoe s IRz 9 g
OF FoHT ¥ N ¥ I 3w WA & werw adt 2 (1) N. Gopalaswami Ayengar/N.aTawash AR
(2) Jawahar Lal Nehru/SaRT &Td AF® (3) Kanaiyalal Maneklal Munshil&83TdTd FHFATH J_T,!ﬂ (4) Alladi

Krishnaswamy lyer/®eardl Feoreaml 3zav '
55. Part IV of the Indian Constitution deals with Directive Principles of State Policy. This feature of Indian

Constitution was influenced by a similar feature of/XRfT FRYW F1 JF-IV ¥ Tow & N vks R
aftta &1 s FRum A 3 g e F e 3o & dRum ¥ T T wfag 2

{1) Canadian Constitution/&aT3T (2) Australian Constitution/3meefara
(3) American Constitution/3#0&1 () Irish Constitution/3TaTds
56. Which among the following schedules of the Indian Constitution deals with Forms of Oaths or

Affirmations? sty wfduer &1 5w gt F vy 7 vy o F g RA T &2 (1) 27 Schedulelgwmd g
(2) 37 Schedule/dfterdl =t (3) 4™ Schedulerath R (4) 5" ScheduleiTad g
57. Which of the following is not a constitutional provision relating to Governors of States? 3% ¥ ®i7 &

U3 & yogural & waftra wawfas srawurr 78t 2 (1) Same person can be appointed as Governor for two or
more Stateslt® & =ufFa & ¥ ar 3+ v=2f w1 oA @ a1 a1 w%ar § (2) He shall be appointed
by the President/ag Irzufd Zarr fawsa fFar smoam (3) He shall hold office during the pleasure of the
PresidentRTezafd #t $91 gdva aF 9l WA (4) He should have completed the age of 25 years/ag 25 @1
¥ ST # 37 & e aiRe

58. Which Article of the Indian Constitution deals with special provision with respect to the States of

Maharashtra and Gujarat? 3R #faum & BFF aede # e 3R Agnre & woal ¥ Fafua Ry
YRYEH & Ieaw §? (1) Article 370/3r1=3< 370 (2) Article 371/37=8% 371

(3) Article 371-Alarredi 371-A (4) Article 371-B/3a=d< 371-B
59. Indian Constitution provides for promotion of international peace and security. Which of the following
deals with this provision? ¥R ¥faum & Fawred wify 3R g ® S Ra F@ &1 g 3 aw P
# A BFwar aftha 2 (1) Article 51 of the Directive Principles of the State Policy/l3=82 51 fad ueg & Aify
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fruls Rgwa 3eaf@a & (2) It is implied by the Preamble of the Indian Constitution/s&ara=T & IF fAfa 2
(3) The 12" Schedule of the Indian Constitution/afatmsr # 12 4t ﬂ\'xﬁ #  (4) Article 392 empowers the
President in this regard/3Teda 392, Tegafar #t a7 ufda dar ¢

60. Which Article of the Indian Constitution defines the Original jurisdiction of the Supreme Court? R
#fum F1 Fl9 Iy Faftw AR § A@ FRER 8y B gfenfta &=

(1) Article 129/3/7587 129 (2) Article 130/3/=TeBZ 130 (3) Article 13UHT=8E 131 (4) Article 132/31+=8% 132
61. Government of India recently announced constitution of NITI Aayog as a policy think-tank replacing
Planning Commission. NITI stands for/gie ! # 3R WHR F WA Ao FA0T F vF Ay Ao dwwm §

T A NITI 3T & a @ 7fda fear @1 g 3nger & NITIE &1 g0 @@ &= 82

(1) National Institution for Transforming India  (2) It is not an acronym, but only a Sanskrit word for Policy
(3) National Initiative for Technological India (4) New Initiative for Transforming India

62. The power to promulgate ordinances during recess of Parliament is vested with/ H8Z ¥ FAAAH & FHY
FeAR Y S F= f afFa Fad @Afka 87 (1) The Council of Ministers/#EaRwe

(2) The Parliamentary Standing Committee an Urgent Enactment/Feamayr® dag #1 furft afafa

(3) The PresidentATseafa (8) The Prime Minister/StTar #30
63. In Alternating Current (AC), the direction and magnitude of the current varies/3radf W uT ﬁag'a
@ 1 B 3R ofmor s wd § g% oREder: (1) Randomiyrag-wgr BT ® (2) Periodically/ffRaa
Fralie F TG A1 § (3) Exponentially/aTd IR # g § (4) Do not varyfa&a agt agaa ¢
64. Albert Einstein received the Nobel Prize for Physics in the year 1921 for his work on/¥e@¢ WZAFT F'
AT F1 A WEFR & 1921 # 37% e avm & v Bar @m? (1) Mass energy equivalence given by
E=mc/A-33 FAFEI & AT E=mc® ¥ AT (2) Hydrogen Atom/gTsSiara I ¥ AT & F v
(3) Theory of Relativity/ aderan @& & AT (4) Photoelectric effect/rl-gntfFcs unmm & Av

65. Sir C.V.Raman received the Nobel Prize for Physics in the year 1930 for his ground breaking work in the
field of /X FavrE d%T TOT F 1930 F HfFH &1 A EFR 390% &w dvgw & B R = 2

(1) Brownian motionfarsfawsr o1ifd  (2) Scattering of light/s#Ter @R § fAc
(3) String Theory/AZhr o/t (4) Nuclear Physics/R$r sifaHY

66. Which of the following Indian nationals has been the recipient of Ramon Magsaysay Award for Community

Leadership? %H & ffw sRefty & T A (R FRERAS Aqed F v oo fvar

(1) Arvind Kejriwall 3RRE Fadae (2) Kiran Bediffyor a8

(3) T.N.Sheshan/ &.vx.d= (4) Dr.M.S.Swaminathan/31.vH . vH. FaHAGS
67. Which of the following awards Satyajit Ray received posthumously? A=if¥a & ¥ sl &R Fa
T #H AT AT? (1) Dada Saheb Phalke Award/<lET dRd BTd® YEFHR  (2) Ramon Magsaysay

AwardR# HAA RESFR (3) Bharat RatnalsiRa T (4) Honorary Oscar/ATag 3T
68. In which individual event, the 1* Olympic medal for Independent India was won at Helsinki Olympics?

totad AT & rady WRa & ga w2F Fy @7 F Rar ar
(1) Archery/diR@rslt  (2) Boxing/Fharsht  (3) Wrestling/F¥cft  (4) Weightlifting/HRieaYera
69. The Gini Coefficient is a measure of/fiIsht o 5o ¥ frw &1 7es &2
(1) Rodent population/gg! ' F=H&AT (2) Migration rate of Guineas nationals/fiiary arf@al #1 waoiar &
(3) Income inequality/3Tr #1 IFATT  (4) Ratio of coinage to currency note/fFt 3R AR &1 3@
70. Which of the following indices is not considered while calculating Human Development Index (HDI)? =13
¥ F AT REw guas & aoan F RBar & & o sar
(1) Life expectancy/renfd 314 (2) Education/fA&  (3) HousingATg faAoT  (4) Incomel/3ar

71. For the financial year 2013-14, what percentage of total tax receipts of the Union Government came from

income tax collections? facdw a¥ 2013-14 H RT TFER & T i uy=ofer & masy ¥ forg ofr &1
wfawa 1 W (1) Around 05%/&Ts9T 05% (2) Around 10%/EITHT 10%
s (3) Around 20%/dTHIT 20% {4) Around 40%/aaTHTT 40%
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72. India’s industrial GDP growtn rate for the fiscal year 2013-14 (at the factor cost of 2004-05) is estimated to
be around/fAedd a¥ 201314 # R A g@fas Sid IR 2T (2004-05 F He F F0a) $1 WHFEA [ HaAl

A T (1) 0.35% (2) 1.43% (3) 2.48% (4) 4.74%
73. As per Census 2011 data, which is the most populated metro city in India? 2011 J@IVAT & HH3 F
HER g8 § TRy AGWIR A Sewer wad was 2 (1) Delhiffeee (2) Mumbaif#a$

(3) ChennailRA+==% (4) Kolkatal&YershidT

74. As per Census 2011 data, which among the following States has higher sex ratio than the national average?
2011 m*mmm#mmmmmamp

(1) Nagaland/amemrds  {2) Delhiffel  (3) Arunachal Pradesh/3%umael wer  (4) Tripural/fq
75. Professor Arvind Panagariya was recently appointed aslgTd & &, W15 3R ool # g &7 @

By g W §$" (1) Chairman, University Grants Commiss ion/3reae, faaReaeT sae 3mamm (2) Vice
Chairman, NIT! Aayog/34Teqey, NITI 3311 (3) Economic Advisor to the Prime Minister/Tur 7 & s

wogwR (8) Governor, Reserve Bank of India/iawY, ¥R Rod &=
76. Till date, 13 serving Heads of State have received Nobel Peace Prize. Only one Head of State received it for
Literature. Who was he? ¥da®, 13 Ted YA@I # HIA GASIe A e uify AR e @1 s & e

T wHE # it § Qv a5 TR faen? (1) Theodore Roosevelt, President of USA/U3ISY Fddec,

FAREHT ¥ Teeafy (2) Eisaku Sato, Prime Minister of Japan/38& W), U & WU Hdl (3) Oscar Arias

Sanchez, President of Costa Rica/3&ht 3R ¥R, Fwer {& & wseafd  (4) Winston Churchill, Prime

Minister of United Kingdom/fd¥es afdw, feear & wum =0

77. The Radcliffe Line is named after its architect, Sir Cyril Radcliffe. It is a boundary demarcation line

between/Q TEFa® AFT H1 79, W BN WHFIG & AW W @ ¢l Iz 5 201 § v & danan &2
(1) Pakistan & Afghanistan/9ifEa @ HEMATAS  (2) India & Bhutan/dRd & 3T

(3) India & Pakistan/SRd @ 9= (4) India & Myanmar/dRd T FIHAR

78. Which among the following is the oldest mountain range in India? f1 & ¥ sl gdasel Faw el g2
(1) The Western Ghats/gfasft o (2) The Aravali Range/fad! gaaAoh
(3) The Satpura Range/aqs! Taasofl (4) The Vindhya Range/fatar gdasvft

79. Which among the following Indian Rivers flows from east to west, eventually meeting the Arabian Sea?
O A BT A N RE ¥ IRGH A I q@H Fa F IRT IR A A Sl 2
(1) Narmadafasier (2) Godavarifsigrad (3) Krishnal/g=om (4) Kaverif&ddl
80. Which of the following National Parks of India is located in one of the north-eastern States? It is also a
declared UNESCO World Heritage Site. 3131 & Hl W1 TS 3249 A1 ¥RA & TS Iea-qdl Tod & fra @
3 & unesco A e Rt wow oifta S &
(1) Betla/daaT (2) Dachigam/grfma (3) Manas/aHTad (4) Silent Valiey /] Tigeic da
81. Suzanna Arundhati Roy, an Indian author and political activist, was vorn in/¥Ra 1 afFF1 3 Toifas
afpaaad), gorer IFufa TG, H T/ wgl gam (1) Shillong/fRram (2) Chennailde=13
(3) ThiruvananthpuramlfaW‘dglﬂ (4) Jeddahfater
82. Yellow Revolution in India refers to growth of sk 1 A wifa sot ¥ e wafug
(1) Militancy in the nortn-east/3cai-y8 & wfdag (2) Oilseeds production/fIegs &1 379GA

(3} Advertising industry/fasa=s 3gaT (4) Jaundice outbreak/ifaaT &1 y&w

83. French Revolution ended in 1790s with the ascent of/1790 ¥ % #HIfy #1 Id, [Fad Ucares g7 W g7
(1) RousseaulFH) (2) King Louis XVIIgE 16
(3) Napoleon Bonaparte/aQlfaasr @1Amare {4) RobespierreRI&A9g

84. In which subject did Dr Bhabendra Nath Saikia, farnous novelist and film director of Assam, obtain PhD
from University of London? WG IWISR U4 fhew Adus, 31 sdg ay dfdw, & &y favy v ag=

Rrafaqaaa @ pho 1 3w el @2 (1) Assamese Literature/¥@f&ar afieew (2) Physics/3ifa=Hy
(3) Mass Communication/SEaR §a=  (4) Mathematics/arioid
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85. In his youth, Adolf Hitler aspired to be a/an, wSlew fgeay, 39 Ja@ew & &1 @ A IR WS N
(1) Architect/arg® R (2) Painter/Ia®R  (3) SingerlT®  (4) Footballer/Seard & f&ard

86. Many of the famous political leaders had a University Degree in Law. Which of the following world leaders
didn’t have a Degree in Law? JgaX ISHITAA Fhj # TRafdgaey 1 30 uns A1 373 @ e & P
AT F I A B IO A db (1) Nelson Mandela/deda #3aT  (2) Fidel Castro/fssd ¥+

(3) Barack Obamal@{/& a1  (4) John F Kennedy/SiTst. v #aid)
87. Ernesto Che Guevara, the famous Marxist revolutionary of South America, was born infZf&yor AT #F
TR AERR FIfAHR wHweY & @0 F1 IR Fel g3m (1) Boliviaraifafazr (2) Cubalegan

(3) Argentinal =T  (4) GuatemalalsarzATaT

88. Charlie Hebdo, the French satirical weekly, first appeared in 1970 as a successor to another French
magazine that was banned for mocking the death of former French President Charles de Gaulle. What was the
name of the banned magazine? % e # zWIUE FAfE® P&, IR @Y F1 IRFEH 1970 & g3m
IR gy, e A @ sta @ by o 1 sanftrerd HAT S, S BT F wegafa ared g T & ey
W 3T FA W videfoa &Far = are (1) Le Mondefsft Hv2 (2) Hara Kirifgrr &8

(3) La Croix/dT ®IFFH (4) Humanite HebdolggHTTSE gl
89. Vasant Govarikar, who passed away recently, was a famous personality in which field?a®@d MaR&T F1
i & A g gam, ar fFw & ¥ 2 W (1) Literature/ATieeT (2) Space science/ ST WiFTH
(3) Classical music/enedg Fafla (@) Cinemal/faa#1
90. Who is non-member who can participate in the debate of Lok Sabha? / 33 & & & A+ ¥ &1 FEE
7 g gU ot 99 F HeT @ Fhar § 2 (1) Vice President/37 Igafa (2) Chief Justice of IndialsRa ¥ #Ew

Aty (3) Attorney General of Indialad & #grfa®a1 (4) None of the above/®1$ aidl

91. Which of the following is the wrongly matched word-meaning pair?
(1) Indict: Accuse  (2) Onset: Beginning (3) Recite: Propose . (4) Temerity: Boldness
92. Which of the following sentences is grammatically correct? (1) Either he or | am mistaken
(2) He gave me an advice (3) The sceneries here are very good (4) Let you and I do it. |
93.Which of the following word is closest in meaning to the idiom, “cast down”?

(1) Humiliated (2) Defeated (3) Depressed (4) Discouraged
94. The letter, ‘0, in the word, ‘about’, is pronounced like letter, ‘0’, in the word :
(1) Go (2) Boy (3) Got (4) Now
95. Khali was sitting on the fence, means Khali was :
(1) Living dangerously (2) Undecided (3) Stubborn (4) Annoying
96. In the sentence, ‘Don’t talk so loud’, the word ‘loud’ is used as an :
(1) Adverb (2) Adjective (3) Idiom (4) Active verb

97. In the sentence, ‘None but the brave deserves the fair’, the word ‘but’ is used as :
(1) An adverb (2) A preposition  (3) A conjunction  (4) A pronoun
98. Which of the following is a correctly matched adjective-noun pair? ,
(1) Restless — Restlessly  (2) Restless — Restlessness (3) Restiess — Restive (4) Restless — Restivity
99. His bad eyesight exempted him __ military service. Fill in the blank with : {(1)in (2)of (3)from (4)at
100. Which of the following is an incorrectly matched word-meaning pair?
(1) Excursion —Short journey (2) Homage - Tribute (3) Sidekick — Close companion  (4) Intact - Tactful

Paper-ll_(English lan Max. marks : 50

Write an essay in English language only on any one of the following topics in not more than 400 words :

(1) Right to freedom of expression should be an absolute right (2) Inclusive Growth: A pipedream
(3) Intelligence is an important aspect of statecraft (4) “It is often safer to be in'chains than to be free”



